
1. The label on a 600 ml shampoo bottle states that there is enough shampoo for  80 washes. 
Approximately how much shampoo has been allowed for each wash? 
 

A. 7ml   B. 10ml  C.15ml   D. None of these  
 
2. The terms: “mean”, “median” and “mode” refers to: 

 
A. The Average      B. Numbers     C. Measures of Central Tendency    D. Standard Deviation 
 
3. What is 35% of a number if 12 is 15% of a number? 

 
A.5    B 12    C 28   D 33 
 
4. If selling price is doubled, the profit triples. Find the profit percent? 

 
A. 200     B. 100   C.50   D.75 
 
5. What Number is in the Tenths place in the following:   7.2431? 
 
A. 7                                    B.  2                         C. 4                           D. 3                     
 
6.If Sam can do a job in 4 days that Lisa can do in 6 days and Tom can do in 2 days, how long would 
the job take if Sam, Lisa, and Tom worked together to complete it? 
 
A. 0.8 days  B. 1.09 days  C. 1.23 days  D.1.65 days 

7. A and B invest in a business in the ratio 3:2. If 5% of the total profit goes to charity and A's share is 
Rs. 855, the total profit is:  

A. Rs. 1425   B. Rs. 1500  C. 1537.50   D. Rs. 1576 

8. A man has Rs. 480 in the denominations of one-rupee notes, five-rupee notes and ten-rupee 
notes. The number of notes of each denomination is equal. What is the total number of notes that he 
has ? 

A.45    B.60    C.75    D.90 

9. A man has some hens and cows. If the number of heads be 48 and the number of feet equals 140, 
then the number of hens will be? 

A.22   B.23   C.24    D.26 

10. Hitler party which came into power in 1933 is known as 

 A. Labour Party  B. Nazi Party   C. Ku-Klux Klan   D. Democratic Party 

11. Among the following who was not the president of India? 

A. Zakir Husain B. V.V Giri C.C. Rajagopalachari          D.N. Sanjeeva Reddy 

12. The famous “Chandra Tal” Lake falls in which state? 

A. J & K  B.Himachal Pradesh  C. Punjab  D. Uttra-khand 



13.  In which of the following cities, Netaji Subhash Chandra Bose laid the foundation of 'Indian 
National Army'? 

A. Singapore     B. New Delhi              C.Tokyo  D.Taiwan   

14.  Who is the current chief Minister of Madhya Pradesh? 

A. VasundharaRajeScindia B.Haridevjoshi  C. Ashok Gehlot D. None of these 

15. Who is the Chairman of Tata-Group? 

A. Ratan Tata                B. Cyrus Mistry             C. Warren Buffet          D. Luxmi Mittal 

16.When did Man Discovered Iron? 

A.100 BC      B.1500BC  C.2000BC  D.1900BC 

17.In 2012, which movie got Oscar award for the Nomination in “BEST ANIMATED MOVIE” ? 

A. Brave     B. Ice Age: Continental Drift     C. Rango      D.  The Lorax  

18. Chairman of planning commission ? 

A. MonteksinghAhluwalia B. Dr. Manmohansingh C. Pranav mukharjee            D. A K Antony  

19. What is the Currency of Brazil? 

A.Danish renminbi         B. Brazillian Real C. Euro         D.Brazillian Dollar 

20. Highest Run scorer in ICC T-20 world cup 2012? 

A. Shane Watson      B. MahelaJayawardene  C. Chris Gayle   D. 
Marlon Samuels 

21. What is the Capital of Manipur? 

A. Imfal   B. Gangtok     C. Kohima  D. Aizal 

22. The“Riwalsar lake” falls in?  

A. Uttra-khand  B. Hydrabad  C. Delhi   D.  Himachal Pradesh 

23.Rome was found in the Year? 

A.750BC   B.760BC  C.753BC   D.765BC             

24.How __________ does it take to get to the railway station from your house? 

A.Long   B. Often  C.Much  D.Far 

 



25. Which of the following is Anonym of Perversely? 

A. Stubbornly  B. Conveniently   C.Reasonably  D. Formally 

26. I play tennis twice __________ week. 

A. an   B.a   C. For a    D. In the 

27. Helen and I ____ looking when we crossed the road. 

A.Were not   B.Was Not   C.Did Not 

28. Which sentence has the same meaning? 
I got into the bath, and then the phone rang. 

A. I was having a bath when the phone was ringing.  B. I had a bath because the phone was 
ringing.C. I was having a bath when the phone rang  D. None of these. 

29. Which of the following has the SAME  meaning as “Beget “? 

A. Lead       B Produce   C. Happens   D.Effect 
 

30. What is MLS? 
 
A. Multiple label Switching   B. Multiple Layer Switching   C. 
Multiple local span    D.  Multiple Local Switching 
 
31. What is AD value of directly connected route? 
 
A. 120  B.180   C. 0   D.None of these 
 
33 On which layer ICMP protocol works? 
 
A. Layer7   B. Layer5  C. Layer4  D.Layer3 

  
34. Which of these is not the feature of IPv6? 
 
A. Stateless Auto-configuration     B. Re-Numbering     C.ARP D. Aggregation  
 
35. Back-bone fast is enabled to provide the fast convergence in case of? 
 
A.  Backward failure B. In-direct failure C.  Direct failure E None of these 
 
36. What is TOS in IP(Explain)? 
 
Ans: 
 
37. Which one of them is not the IP flag? 
 
A. NS                B. MF                   C. DF               D. Reserved  
 
38. OSPF LSA-5 is Know as? 
 
A.   Router LSA         B.  Network LSA     C. NSSA              D. External-LSA 



 
39.  Spanning-Tree Protocol is used for what? 
 
A.  To avoid Neighbor Loops      B. To avoid Domain Loop     C. To avoid Layer-2 Loops 
D.  To  Network Loops 
 
40. RIP(Routing Information Protocol) works on which Layer of OSI Model? 
 
A. Network Layer    B. Application Layer    C. Transport Layer  D. Data-Link Layer  
 
41.Vlan is used for what purpose? 
 
A. To segregate the Broadcast domain   B.To segregate the Multicast domainC.To 
segregate the Unicast domain  D. To segregate the Anycast domain 
 
42.  What is the Size of   IPv4 Header? 
 
A. 50Bits                B. 20Byte              C. 128Bit                 D. 32Bit 
 
43.BGP  is?  
 
A.  Link-State Protocol  B. Path-Vector Protocol   C. Advance Distance vector Protocol    
 
44.  127.0.0.1 address is reserved for what Purpose? 
 
A.  Default route B. Loopback testing C. Static route  D. None of these. 
 
45.  BPDU-Filter enabled Port will come in to which state after receiving the BPDU? 
 
A.  Shutdown  B. Root-Inconsistent State      C. Loop inconsistent State   
D. It cant receive BPDU 
 
46.  UDLD stands for what? 
 
A.  Uni-directional link discloser B. Uni-directional link detection C.  Universal detection line 
direction D None of these 
 
47. BGP MED is used for? 
 
A.  Incoming Traffic to AS       B. Outgoing Traffic of AS      C. Local Traffic . 
 
48. Which Data-link Layer Protocol Provide Authentication? 
 
A. Ethernet B. ATM  C. Frame-Relay D.PPP 
 
49.  BGP Weight for locally connected networks is?  
 
A.  40000  B. 32768     C. 100         D. 1000 
 
50. In MPLS, LIB is also known as? 
A.  Flow                      B. Local information Base  C. Label information Base                        D. Label 
information baseline 
 
. 
 

 


